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(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM%#BZ % - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - -~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 6.08 76.24 | FnLS | 0oo ~ o0.00| 1.66 8.39 st 1.00 | .00 ~ 7.10 76.24 | ThSY | 5,00 ~ 7.10)| 1.66 8.39
2 100kN/mM%#BZ 5 -~ -|3mEBZD -~ -| 100kN/m#%#8% % -~ -|3mEBZD ~
s 1.00 | 0.00 ~ 638 80.31 | #nS | 000 ~ 0.00)| 1.74 8.81 st 1.00 | 6.00 ~ 7.50 80.31 | =hd4 | 6.00 ~ 750 1.74 8.81
3 100kN/mM%E#BZ 5 ~ -|3mEBZD ~ -| 100kN/m%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.67 84.20 | #nst | 000 ~ 667 1.91 9.65 st 1.00 | 6.00 ~ 8.50 84.20 | =h4 | 5,00 ~ 8560 | 1.91 9.65
4 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 5.50 68.66 | Tns | 0oo ~ 000 | 1.63 8.26 st 1.00 | 6.00 ~ 6.20 68.66 | Thst | 6.00 ~ 620 1.63 8.26
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 477 59.40 | =hst | 0.00 ~ 000 1.69 8.66 st 1.00 | 6.00 ~ 5.00 59.40 | =n4 | 5.00 ~ 56.00| 1.69 8.66
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhest ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ Fhst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ ZFhst ~ FhLst ~ st ~
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